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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

When you ---------- a meeting, it is important to speak clearly, confidently and at a good
pace.

1) assess 2) propagate 3) address 4) impress

People like the newly proposed system, but because of the costs involved we do not
believe it is ---------- , and we need to look for other options.

1) compliant 2) defensive 3) ingenuous 4) viable

The country in question is very poor, and one in seven children dies in ---------- .

1) infancy 2) nutrition 3) malfunction 4) mortality

I don’t consider myself to be particularly ---------- , but when I’m given a job, I make
sure it gets done.

1) industrious 2) spontaneous 3) risky 4) unexceptional

The new airliner is more environmentally-friendly than other aircraft, its only ----------
being its limited flying range.

1) demand 2) drawback 3) controversy 4) attribute

The celebrity will ---------- assistance from the police to keep stalkers away from his
property.

1) extend 2) invoke 3) absolve 4) withdraw

When plates in the Earth’s crust slide or grind against one another, an earthquake with
devastating consequences may be ---------- .
1) derived 2) surpassed 3) triggered 4) traced

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The new species was named Maiacetus inuus, which means “mother whale,”
(8) -—-------- in the family Protocetidae. Assignment to a new species was justified due
to critical differences from other protocetid whales, such as solidly co-ossified left and
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right dentaries (lower jaws), (9) ---------- in the ankle, and significant disparity in hind
limb elements. The fossils show (10) ---------- this new species’ length is unimpressive
relative to some extant (living) whales, but still, Maiacetus inuus measures a
respectable 2.6 meters.

8- 1) placed 2) that placed 3) was placed 4) and was placed
9- 1) there were variations 2) varying

3) variations 4) which varied
10- 1) when 2) that 3) although 4) for

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The word "Parthia" is originally traced to an inscription recorded in 520 BCE by the
Achaemenian King Darius I, who referred to "Parthava," a land corresponding
approximately with Khorasan in modern Iran. The origins of the Parthian Empire are
not clear to historians, though tradition tells us that the first emperor was named
Arsaces I, a former governor under the Bactrian Greeks. It is believed that sometime in
the last decades of the third century BCE, Arsaces took up arms against his Greek
monarch and established his own kingdom of Parthia. Arsaces and his successors
consolidated their control over lands south of the Caspian Sea, and through a number
of military campaigns, began to build an empire.

By the end of the second century BCE, the Parthians controlled all of the Iranian
Plateau, the Tigris-Euphrates river valley, and much of Syria. They established their
first treaty in 92 BCE with their future rivals, the Romans, in an effort to defeat their
common enemy, the Seleucids. As the Seleucids weakened, the Parthians absorbed
much of their territory. By the middle of the first century BCE, the Parthian Empire
was at its zenith, both stable and strong.

11- Parthia, according to the passage, ----------
1) referred to the land that is called Khorasan today
2) was made by the Achaemenian King Darius |
3) was the name of an inscription recorded in 520 BCE
4) referred to Parthava, an empire near Iran
12- The first governor of Parthia supposed to be ---------- .
1) elected in the last decades of third century
2) Arsaces [ who later became the empire of Greece
3) a previous governor under the Bactrian Greeks
4) someone reestablishing the foundation of governance
13- The word "consolidated" in paragraphl is closest in meaning to ---------- .

1) evaluated 2) classified 3) changed 4) centralized
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14-

15-

16-

17-

18-

19-

20-

By the end of the 2nd century BCE, the Iranian Plateau included ---------- b
1) Tigris-Euphrates river valley, Syria, and Romans

2) Tigris-Euphrates river valley and much of Syria

3) lands south of the Caspian Sea, and Greece

4) lands south of the Caspian Sea, and much of Syria

Seleucids, as referred in the passage, ---------- y

1) was the future enemy of the Romans

2) was the future rival of the Parthians

3) was the common enemy of the Parthians and the Romans

4) was the major rival of both the Parthians and the Romans

PASSAGE 2:

The Iranian languages all descend from a common ancestor: Proto-Iranian, which itself
evolved from Proto-Indo-Iranian. This ancestor language is speculated to have origins
in Central Asia, and the Andronovo culture of the Bronze Age is suggested as a
candidate for the common Indo-Iranian culture around 2000 BCE.

The language was situated precisely in the western part of Central Asia that borders
present-day Russia and Kazakhstan. It was thus in relative proximity to the other satem
ethno-linguistic groups of the Indo-European family, such as Thracian, Balto-Slavic
and others, and to common Indo-European's original homeland (more precisely, the
Eurasian Steppe to the north of the Caucasus), according to the reconstructed linguistic
relationships of common Indo-European.

Proto-Iranian thus dates to some time after the Proto-Indo-Iranian breakup, or the
early-2nd millennium BCE, as the Old Iranian languages began to break off and
evolve separately as the various Iranian tribes migrated and settled in vast areas of
southeastern Europe, the Iranian Plateau, and Central Asia.

All of the following are characteristics of the Iranian languages EXCEPT they ---------- !
1) come back through mediations in Proto-Indo-Iranian

2) descend from Proto-Iranian

3) has older origin in central Asia

4) has made the evolution of Andronovo culture

The world "speculated" in paragraph 1 is similar in meaning to ---------- ’
1) guessed 2) identified 3) stated 4) recorded
The western part of Central Asia ---------- .

1) made the other satem ethno-linguistic groups closer together
2) was the borderline of Russia and Kazakhstan

3) was the exact location of Proto-Iranian language

4) caused the Indo-European family to develop

It's stated in paragraph 3 that some Iranian tribes ---------- .
1) started to complete their language 2) began to form a more united tribe
3) altered their pattern of migration 4) colonized in three major parts

The author of this passage most likely is a ---------- .
1) linguistics 2) historian 3) archaeologist 4) anthropologist
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21-

23-

25-

PASSAGE 3:

Old Persian was an Old Iranian dialect as it was spoken in southwestern Iran (the
modern-day province of Fars) by the inhabitants of Parsa, Persia or Persis who also
gave their name to their region and language. Genuine Old Persian is best attested in
one of the three languages of the Behistun inscription, composed circa 520 BCE, and
which is the last inscription (and only inscription of significant length) in which Old
Persian is still grammatically correct. Later inscriptions are comparatively brief, and
typically simply copies of words and phrases from earlier ones, often with
grammatical errors, which suggests that by the 4th century BCE the transition from
Old Persian to Middle Persian was already far advanced, but efforts were still being
made to retain an "old" quality for official proclamations.

The other directly attested Old Iranian dialects are the two forms of Avestan, which
take their name from their use in the Avesta, the liturgical texts of indigenous Iranian
religion that now goes by the name of Zoroastrianism but in the Avesta itself is simply
known as vohu daena.

All of the following, according to the passage, are true about Parsa EXCEPT it ----------- .
1) referred to the residents in southwestern Iran

2) referred to old Iranian dialects

3) was the old Iranians' language

4) was the name of Persis’ zone

The word "attested" in paragraphl is closest in meaning to ---------- ’

1) differed 2) happened 3) published 4) indicated
It's stated in the passage that Genuine Old Persian ---------- :

1) has been found in all inscriptions of Behistun

2) was written in three languages in the Behistun inscription

3) is still grammatically correct in the last Behistun inscription

4) had the highest length in Behistun inscriptions

In this passage, the author ---------- .

1) mentions three dialects of old Iranian dialects

2) highlights two forms of Avesta

3) cites the liturgical texts of indigenous Iranian religion

4) describes an old quantity for official proclamations

The writer's tone in this passage is ---------- .

1) objective 2) amusing 3) fictional 4) doubting
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